HA DT —T )

F150615 E3HEH

B0ke R 10% 1~8 73ke ik 10% 1~14

1 20%; 9~16 81Keihk 10% 1~15
100kg#k 10% 1~5 73kefk 20 16~22
60kgih 30# 17~20 81Keihk 20%; 16~23
1 ERES 21~22 73kefk 30 23~26
100kgik HERES 10~11 81Kefh 30 24~27
60kefhk + 100kgih 3ATREH: 73ke ik HEIRE 27~28
SBSFRES T REHR 81Keih FERES 28~29

T3ke#k « 81ke#hk STLRES

QFRES T EHR
F2E15 BAHEH

G6kefk 10% 1~10 100kgitB#k 10% 1~3
O0kgih 10% 1~3 52kg iR 10% 1~3
66keih 20% 11~18 57kefR 10% 1~3
O0kgith 20% 4~11 TOkgfk 10% 1
B66keih 30% 19~22 100kgitB#k 20 4~T7
90kg iR 30% 12~15 48keihk 10% 1
B66ke iR HEREE 23~24 52ke iR 20)# 4~7
90ke R FERES 16~17 S5T7keik 20% 4~7

B66keih « OOke ik SATREH 63ke iR 10% 1

TOkgith 20% 2~5

78kefh 10% 1

100kgiB#k FERES 8~9

48kgfh FERES 2~3

52kgiR R 8~9

57kefRk ERR 8~9

63ke iR FERES 2~3

TOkgfk FERES 6~7

78kefk HERE 2~3

78keiBHR HERES 1
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